- -
-------

9-2 zREE%KF

H Ox3 ) JR /3
off—RE A, 1F

BERERETIR3)

il

PelBA , FFfER
£ Oxy-1- 1 A 58

=4

=

oﬁﬁﬁﬁﬁﬁm

NAERES, H

A

HE o5 RENR

ME, XNMRE
U BURE % R &

At
e

1



9-2 ¥R F

x = Acos(wt+ @)

P o O Ll o AR
LY R RE A

:” i \\\ S N

: | a PR ¥ 7E v Bl
A g T | EEBREAK

\ | # B3 K IS

’
’,
”
" L]

- -
_______

g




9-2 ¥R F

/"—.-l—-"'"-\a)
)
! Y —
|
] \I\A
— O | Al
I i
I @ & 4
0 9
[ xot
1 1
/
X, = Acos@| .
/
I Ve
B 1 -
o v il

Lo AR
MR E A
) 3 R 7E X B
EsiiEi's-F=4il
iZ 3] 4 e i iE
).

g

FHRE HK I



9-2 ¥R F

_ Lo AR

A e R R

a)t:-l-go\“ ) g SR X

\ 0, = ,: X R AR

X ' J Z 3 g s
- — 7.

g

FHRE HK I 4




9-2 ¥R F

l s —
’____}_/‘ 0 ] v =Aw
= TS\ A+ p+—
4 ~ @ 2

- lv=—Awcos(@x + @)

! 2
o — A
= o x| %—4dw

/ a=—Aw’ cos(wrt + @)

"'-..___.—

g

FHRE HK I 5




9-2 ¥R F

F e e R & B i3 5] 1 2 3 1) x — 1

x = Acos(ax + )

FAE ;




9-2 zREE%KF

> ARLZE: REFAMLLZ

(1) Xf[F—fEjiEEsh, MAZER S
P32 IR AR 1R) 2R AL BT 75 D B 18]

x, = Acos(at, + @) x,=Acos(wt, + @)

Ap=(ax, +@)—(aX, + @)

A
At=t,—t =22

0,

BAE K I 7




9-2 ¥R F




9-2 zREE%KF

E (2) X TFRAFERRKEEE3, A
ZRpNEMBEDELERES (BRIREIE K
)LD

x =Acos@+@) x,=A cos(wft+p,)

A(D — (a)t+g02)—(a)z‘+(ol)

AQ:(DZ_(OI

FHRE K F 9



9-2 ¥R F

Ap ==*n [

2R
ApRHE
L
X

FHRE HK I

10




WREERE

E 9-2
T Bl —RER0.01 keI RTIEIZ Y,

:%[I]Eﬂj‘jo 08 m, Hﬁﬂ)b“l S» }@ﬁAH:

ZIARAE

¥=0.04 mit, [HoxBifi Fmizs) (U

&) LRk

(1) =1.0 sbBY, YR RIAr &P 52

1775

0

L g

x/m

~0.08 -004 O 004 0.08

FHE KD

11



9-2 zREE%KF

B4 m=0.01kg, 4=0.08m,T = 4s

t=0,x=0.04m,v,<0 3k (1)¢t=1.0s,x,F

ﬁé{ A=0.08m a)zz—n:ES_l

r 2
t=0, x=0.04 m

AN x = Acos( wt + @) == gozirE

3
T a)
0, <0 Lop=— :\
| | 3 | x/m
—0.08 —-0.04 O 0.04 0.08 m

FAE 3 >




9-2 ¥R F

”¢_E
| 3 7T 7T
S.x=0.08cos(=t+—)

2 3
a3k (1)t=1.0s,x,F
t=1.0s A FFXA x=-0.069m
F=—kx=-mo'x =1.70x10° N

m=0.0lkg 0
| 1 | g | X/m

~0.08 —0.04 © 004 0.08

FHRE HK I

13



i (2) HATLH

9-2 zREE%KF

Vi Bz 3x =-0.04 mAb TR

) 5 R I 1.

— BEHERA

i 2 HY) 5 R A TR ¢

0 ——

| 6 |

x/m

-0.08 —-0.04

O 004 0.08

Bz 3 Fx=-0.04 mALF

BAE R

14



T

9-2 ¥R F

T

T T
x=0.08cos(—1+— —0.04=0.08cos(—7+—
(2 3)-> (2 3)

1 T
arccos(——)—— )
- 3 £ _0.667s
/2 3
& /
| | | e | A
~0.08 —0.04 © 004 0.08

FHRE HK I

15



9-2 ¥R F

payclingd

-0.08 -0.04 O 0.04 0.08

wt = i co=£rad-s‘1 t=g=0.667s
3 2 3

@

FHE R 16




